
②　（－   x＋  ）－（   x－  ）①　（   x＋  ）－（   x＋  ）

　（－   x＋  ）－（   x－  ）
＝－   x＋   －   x＋

＝－   x－   x＋   ＋

＝－   x－   x＋   ＋

＝－   x＋
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１ 次の計算をしなさい。

１次式の減法

１

数学 １次式
分数の１次式の減法

　（   x＋  ）－（   x＋  ）
＝   x＋   －   x－

＝   x－   x＋   －

＝   x－   x＋   －

＝－   x－
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4

④　（－   x－  ）－（   x－  ）③　（   x－  ）－（－   x－  ） 2
3

5
8

7
8

2
5

1
5

2
3

3
7

2
7

１次式の減法では、ひく式の符号を変えて計算する。



②　（－   x＋  ）－（   x－  ）
　＝－   x＋   －   x＋

　＝－   x－   x＋   ＋

　＝－   x－   x＋   ＋

　＝－   x＋

①　（   x＋  ）－（   x＋  ）
　＝   x＋   －   x－

　＝   x－   x＋   －

　＝   x－   x＋   －

　＝   x＋

　（－   x＋  ）－（   x－  ）
＝－   x＋   －   x＋

＝－   x－   x＋   ＋

＝－   x－   x＋   ＋

＝－   x＋
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１ 次の計算をしなさい。

１次式の減法

１

数学 １次式
分数の１次式の減法

　（   x＋  ）－（   x＋  ）
＝   x＋   －   x－

＝   x－   x＋   －

＝   x－   x＋   －

＝－   x－
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3
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5
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3
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3
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1
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4
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4
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4
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8

1
8

2
8

④　（－   x－  ）－（   x－  ）
　＝－   x－   －   x＋

　＝－   x－   x－   ＋

　＝－   x－   x－   ＋

　＝－   x－

③　（   x－  ）－（－   x－  ）
　＝   x－   ＋   x＋

　＝   x＋   x－   ＋

　＝   x＋   x－   ＋

　＝   x－

35
7

35
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2
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2
7

１次式の減法では、ひく式の符号を変えて計算する。


